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A (604 - 482) x 8 =
B (922 - 104) + (16 + 8) =
C 896 — (1,288 + 4) =
D (2,340 - 2,050) + (132 x 3) =
E (423 + 546) x (756 - 755) =
F (33 x 7)+ (2,535 + 5) =
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- (269 x ) + 4 =
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O GED GO GBSO GO GBS G GBS G G G G G G G G G G G G G G G G G GBS GBS @& o

1) 4 x (824 - 392) =

O GED GO GBSO GO GBS G GBS G G G G G G G G G G G G G G G G G GBS GBS @& o

2) (624 +301) + 5 =

O GED GED G GO GBS G G G G G G G G G G G G G G GBS GBS G @

3) 1,422 - (594 + 9) =
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‘ (236 x 5) - (345 + 655) = )’\

AW (236 x 5) - (345 + 655) (1,180) - (345 + 655) v
1,180 - 1,000
- 180
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O GED GED GBS G G G G G G G G G G G G G G G G G G G G GBS G e & o

4) (490 = 7) + (1,845 - 650) =

O GED GED GBS GBS G G G G G G G G G G G G G G G G GBS G GBS GBS GBS B e o

5) (299 + 841) x (16 + 2) =

O GED GED GBS GBS G G G G G G G G G G G G G G G G GBS G GBS GBS GBS B e o

6) (3,648 + 12) + (2,408 ~ 2,400) =
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